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Time : 4Hrs.

Full Marks   : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer any two questions from Group B, each question 

carries 10  marks.

Answer all one questions from Group C, each question 

carries 30  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

(ii)  

Sem. IV -  Ag. Engg.

M/C Drawing
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1. Choose the most suitable answer from the following

options :1x20=20

P.T.O

(ii)

(i)

(i)The ratio of length to width of any 

trimmed drawing sheet conforming to the 

BIS code of Practice.

(a) 

(b) 

(c) 

(d) 

(a) Parallel lines 

(b) Perpendicular lines

(c) Lines at any angle 

(d) All of above

5.

Answer One Questions. 30x1=30

Draw full size 

(i)  A half-sectional front view and 

(ii) A sectional side-view of bushed bearing 

     shown in fig (2)
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Fig. 2

N4040 N4040



14 3 16114021611402

P.T.O

(iii)

(iii)

(iv)

(ii)

What does f indicate in dimensioning ?

(a) Diameter

(b) Simple radius 

(c) Diameter of sphere

(d) None of above

conventional representation of threads ?

(a) Pitch expressed in millimeter

(b) Lead expressed in millimeter

(c) Multiple thread 

(d) Metric thread

Draw two views of any two friction locking 
device for 12 mm bolt.

Draw free hand socket and spigot pipe joint of
dia 150 mm

different head.

of Steel, Zinc, Marble, Rubber, Petrol and 
Plywood materials.

3.

10

OR( )

4.

10

OR( )
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P.T.O

(v)

(v)

(vi)

(iv)

Draw free hand two views of a zig-zag double
 riveted lap joint of 10 mm thick plate.

10 mm 

The projectors in isometric view are

(a) Converging

(b) Diverging

(c) Parallel to plane of projection 

(d) Perpendicular to plane of projection

(a) An involute

(b) A circle

(c) An ellipse

(d) None of these

OR()
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P.T.O

Answer Any Two Questions. 

2.

10x2 =20

10 (vii)

(vii)

(vi)

(viii)

The section plane or cutting plane is 

represented by 

(a) A long-dashed line

(b) Long-dashed dotted narrow line

(c) Long-dashed dotted wide line

(d) Only dotted line

(a) Irregular

(b) Visulized

(c) Symmetrical 

(d) Nonvisualized 

(xx)

Draw two orthographic views of an object shown in 
fig (1) (use first angle projection)

Fig :- 1 
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P.T.O

(ix)

(ix)

(x)

(viii)

measured perpendicular to the joint is called
(a) Diagonal pitch
(b) Back pitch
(c) Pitch
(d) Margin

fastening 
(a) Welded joint
(b) Threaded joint
(c) Reveted joint
(d) All of these

(xviii)

(xix)

(xx)

(xix)

the plane of projection is assumed to be
..............
(a)  Transparent 
(b)  Opaque 
(c)  Both (a) and (b)
(d)  None of these

thread is called
(a) Pitch 
(b) Lead
(c) Flank
(d) Slope

N4040 N4040
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P.T.O

(xi)

(xi)

(xii)

(x)

A bolt without thread is known as .............

(a) Pin

(b) Stud

(c) Hook bolt

(d) None of these

(a) Cast Iron

(b) Aluminum

(c) Gun metal 

(d) Mild steel

(xvii)

(xvii)

(xviii)

(xvi)

(b) Locking device

(c) Lifting and transporting heavy machines

(d) None of these

(a) Reducing slip of cotter

(b) Avoiding shear of cotter

(c) Providing more strength to cotter

(d) Providing more taper to cotter

N4040N4040
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P.T.O

(xv)

(xv)

(xvi)

(xiv)

(xiii)

(xiii)

(xiv)

(xii)

single motor, which system of pulley is 
used ................. 
(a) Stepped pulley
(b) Solid cast pulley
(c) Fast and loose pulley
(d) None of these

bearing ?
(a) Inclined plumber block bearing 
(b) Foot step bearing 
(c) Wall bracket bearing
(d) Marine engine shaft bearing

ACME thread is a modified form of ............

(a) Sellers thread

(b) Knuckle thread

(c) Whitworth thread

(d) Square thread

automobile industry is a

(a) Jam nut

(b) Castle nut

(c) Screw nut

(d) Ring nut

N4040 N4040
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***

Draw the orthographic views of fig (3) on full scale
(a)  Top view 
(b)  Front viw

***

OR( )

Draw the orthographic views of fig (3) on full scale
(a)  Top view 
(b)  Front viw

***

OR( )

Fig - 3Fig - 3
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